ST 545 i = X 15
T ATE 4« T X EREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
9| FaliERT Eein 50 | 1.8 - - - - - -
k| MA7TH B ARAMRR RE T B R — | B - | g o - -
LEELIA oo it 60 1.1 — —| kv ke - -
9| A HIRET £ 50 | 1.9 e e e s
5 TRILIRAT YE T2l 60 | 1.3 e e e T
ERLEAS o i 50 | 1.7 — — — — — —
A AR IRHET ESsEn 50 | 1.8 e e e T
| AR LHT A [EEcaRIAESET
1 BEHRMMEREE TR — | B - —| e teYE — -
2 kRS oHR 50 | 1.1 —| | W ¥ - —
TR AR X g - - —fl 21F 21 — —
AT AbAm T Rk
1 MR EE B — | Bk - | ey oHE - -
2 RECEAh oot 50 | 1.1 - —| H¥H EME - -
AT LA P - | o2y 21— —
A LT T b 50 1.1 — tl:ﬁF btfﬁfttz’% - -
T LT X 50 | 1.1 = —ph o2y 21 - —
AR [LIFT 3l [ERER 7
1 BSHMliRR EE IR — | B& - | i ttﬁ‘ - -
2 LA o g 50 1.1 - —| M - -
AT LR Ik o e A | A | B
AR (LI BT B L PR 50 | 1.1 - - tt@rgtti@ - -
LA X - - - o2yM 2y - -
A LT 87 Eoe - | WL o2y 2 | —
A LET#R £ 50 | 1.1 — r@ o1 21 —| —
HLT1~7TH Wb — | BEAR | sMy bk - - | -
AT LA X I o e B S0 | < 5 |
Bt Eseid — | R | fhiH LkEE Lbdy eME | —




